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| [Br3% 390 t ] - [R=E 881t ]
WO AWEIEIESEBEE 24 %K FhEb W ATZIZATHE R 21 % N
' B ofr: H (BaAs)
By X - R =

& g FEEH | B | B OE % 8 fh H FTEEM | B | 8§ E =7 fH
B IR = B 10 ke 2, 592 1,080 | #MA FOEK L 10 ke '3, 240 1, 620
T IREE v/ 200 g 64 43 | 5U = 10 ke 4, 860 —
LA &= B 250 g 86 — | EF = B 10 ke 4, 860 3, 024
ZEDR I 200 g 64 43 | VrrEE = R 7.5 ke -2, 700 1, 296
IZONAED = B 200 g 108 64 | T—NAA Y 5 A 9 ke 8, 640 —
Fh = 0 150 g 118 —
LwAEL N 180 g 118 86
AN E & 10 kg| 1,404 =
FEEEICA U A JbiEE 10 ke| 2,376 1,512 !
i< awm X OWR 15 ke 1, 296 1, 080
X Y = 10 ke 1,944 1,728
LA A It & 10 ke 2,376 1, 944
=R BB 5 ke 2, 160 —
729 = A 5 ke 1, 728 —
b=k T % 4 kg 3, 240 -
B A S 150 ¢ | 75 =
I Lok A& 10 ke 1, 620 1, 188
mERE b B 20 ke 4,752 3, 780
E LW ™ B 100 g 194 151
LT £ % 100 g 75 59
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At g FEEM | H | B E % B B H FEEM B | B & % &
A CAHHE KR 1 kg 1,728 1,242 | Y4 F 1 ke 2,808 1,080
mESAHE PNGAES 1 ke 1, 263 1,188 | ¥ AT 1 ke 1, 296 648
7 & & 1 ke 799 248 | X T = =2 1 ke 2, 160 1,080
VA & I 1 kg 1, 620 183 | A=H FER L 1 kg 1, 404 —
AT Bl RIS 1 ke 864 648 | FU AV L E 1 ke 4, 860 1, 188
ANAA T E K lke 1,134 — | BT~ 2 (8 A 1# | 248 54
EPANSS ™ B 1 ke 1,728 194 '
EEA = Ix 1ke 1,728 540
&5 2 k& 1 ke 2, 700 2, 160
INE = IR 1 ke 1, 620 324
A, SR 1 1 ke 1, 404 540
ks £ E 1 ke 3, 564 388
2 A LG  1ke 1,404 486
=), REIR S 1 ke 1,998 972
VU T A ) 1 ke 1, 836 756




